National Testing Agency

Question Paper Name:
Subject Name:
Creation Date:
Duration :

Total Marks :

Display Marks:

Group Number:

Group Id :

Group Maximum Duration:

Group Minimum Duration :
Show Attended Group?:

Edit Attended Group?:

Break time:

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar? :

Section Id :

Section Number:

NEW 135 OLD 36 M40 NEW ORDER

B TECH

2023-04-13 14:52:57

180

300

Yes

B Eand B Tech

T

36669474

0

180

NO

No

300

NoO

Cant View

No

Mathematics Section A

366694416

T

a
gcollegedumaa
India’s largest Student Review Platform

S



Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response

Maximum Instruction Time:

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Online
Mandatory
20

20

80

Yes

0

1
366694416
Yes

null

Question Number : 1 Question Id : 3666947183 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For the differentiable function [ : IR—{_I[]_} R, let 3f(x )+23"'[

then |/(3) +f'[l}

Options:

36669422601.

36669422602.

36669422603.
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Question Number : 1 Question Id : 3666947183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3EFT BT [:R-[0} > R %ﬁuw:ﬁmw;[l}l_m .
X X
f{a)+f~'[ﬂ R &

Gl

Options:

36669422601,

S
£

on|

36669422602.

30

-

a1 |

36669422603.

36669422604, 19

Question Number : 2 Question Id : 3666947184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The set of all a e IR for which the equation x |x —1|+|x +2|+a =0 has exactly

one real root, 1s
Options:

(—0, —3)
36669422605. |
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36669422606.
(=, 0)
36669422607/. '
(-6,-3)
36669422608.

Question Number : 2 Question Id : 3666947184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl a e R, oD foTT THIBRO x |x - 1] + |x + 2+ a = 0T A TP RGP H g,

1 g =T ¢
Options:

(—, ~3)
36669422605. |

(-6, =)
36669422606.

(0, )
36669422607. '

f— ), — 3 )
36669422608. |

Question Number : 3 Question Id : 3666947185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v
[et B=|1 2 3|, a>2 be the adjoint of a matrix A and |ﬂ]=‘7’. Then

@ a 4]

a
la —2a a] B| -2« | is equal to
o

Options:

36669422609. y

36669422610, —1°

36669422611. s

32
36669422612.

Question Number : 3 Question Id : 3666947185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ke

1 !
HAl B=1

I

I
3|, a>2, (P HYE A B YgWSH g aul |A|=2 g dl
4

|_a (04

e —2a «] B| 2a SRR B

Options:

36669422609. ¥
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36669422610.

36669422611. .
32

36669422612.

Question Number : 4 Question Id : 3666947186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For the system of linear equations
2x+4v+2az=0
x+2y+3dz=4

2x —bDy+2z=8

which of the following 18 NOT correct?

Options:

36669422613 It has unique solution if a =6=6

36669422614. It has unique solution if a =b==8

36669422615, Lt has infinitely many solutionsifa =3, b =8

It has infinitely many solutionsif a =3, b =6
36669422616.

Question Number : 4 Question Id : 3666947186 Question Type : MCQ Option Shuffling : Yes Is

Miitactiam AMandatarir s NMa Calciilatar s AMlana Dacsnanea Tirma * N A Thinkl Tirma s ARl A RMAirnirmisrmm

L]
&collegedumaa
India’s largest Student Review Platform

S




Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2x+4yv+2az=0b
x+2y+3z=4

2x—oy+2z=28
& foru P A QB w1 Ot AdT @
Options :

36669422613, 29 e AR UG a=b=6 g

| TP HigAI ARG UG a=b=8 B

36669422614
36669422615, <0 A A a=3b=8 ¢
36669422616, TP AU AL 0=3,0=68

Question Number : 5 Question Id : 3666947187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of symmetric matrices of order 3, with all the entries from the set
0, 1,2,3,4,8,06,7,8, 91,18

Options:
i}
36669422617, 1Y
L_jl'”'
36669422618, °
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i
36669422619, 1V

Q10
36669422620, °

Question Number : 5 Question Id : 3666947187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pifc 3 & guIHd 3Mregel, fore gl 3dud =9 {0,1, 2, 3, 4, 5, 6, 7, 8, 9)
JE PIIEN g

Options:
- 1)
36669422617, Y

36669422618.

A
36669422619, 1V

Q1o
36669422620, °

Question Number : 6 Question Id : 3666947188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Let 5., 8,, 8,,...., 8, respectively be the sum to 12 terms of 10 A.P. s whose first

1t]

terms are 1, 2, 3, ...... 10 and the common differences are 1. 3. 5........ 19
10)
respectively. Then ) s, is equal to

=1

Options:
i-l:'
36669422621, '=0Y

7220
36669422622.

36669422623, (96U

36669422624, o0V

Question Number : 6 Question Id : 3666947188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OFT10 AP, SHP UYHYS 1. 2 310 TUT 314 SR FE: 1. 3. 5., 19 g

LU

’3; 12 Wﬁm m: S]-.« Sga S:';-!-“'*E- S‘[['J %I E-T ng W%
i=1

Options:

oy
36669422621, '=0U

1220
36669422622.

36669422623, 960

FaQrn
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Question Number : 7 Question Id : 3666947189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among
(>1) : lim = (2 +d+b+...... *I‘Eil'l.]l:l
m—m  pp=
(52) : Iim L.(lm +2° 430 4. ;ra]ﬁ'J . 2
‘ "l —80 ”“:I ]_G
Options:
36669422625, U (S1)1s true
y (ROt
IEBEOAZIGNG, UN VRIS e
36669422627, Doth (S1) and (S2) are true
Both (51) and (52) are false
36669422628.

Question Number : 7 Question Id : 3666947189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(S1): lim —(2+44+6+.....+2n)=1

n—m  3)-

(S2) : lim {H (1”+2‘ﬁ+3“+_.___i_+n”-")=i 7Y

n—E - 16

Options:
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36669422625, P4 (S) T E

36669422626, P (52) I §

36669422627, &l (S1) AT (S2) TH €

36660422628, ATl (S1) T (S2) 3 ©

Question Number : 8 Question Id : 3666947190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the equation of plane passing through the line of intersection of the planes
x+2yv+az=2 and x=y+2z=3 be Bx=1ly+bz=06a-1. For ¢ €&, if the

. . - TPV + b .
distance of this plane from the point (@, —¢, ¢) 18 —=. then - is equal to

1.||| (I C

Options:

36669422629, 1

36669422630, -

36669422631, 2

36669422632, *

Question Number : 8 Question Id : 3666947190 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HATA! 2+ 2y +az =20 x - y+ 2z = 3D Uldsded Y@ ¥ §ldH olH dTd
gHdd &1 GHIDHI 5x—-11y+bz=6a-1 8l ¢ 7 & [0, TS 9 GHIA DI

&g (a, ¢, )V T % iR ®

C

Options:

36669422629, 1

36669422630, -

36669422631, 2

36669422632,

Question Number : 9 Question Id : 3666947191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot a=i+4;j+2k b=31-2j+7k and ¢=2i-j+4k. If a vector d satisfies

dxb=¢xb and d-a =24, then Jr 18 equal to

Options :

36669422633, 29

36669422634, 19

N alt ol ot o B Ko T X ot W
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413
36669422636.

Question Number : 9 Question Id : 3666947191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UFl G=i+4j+2k b=3i-2]+ThadT ¢=2i — j+ 4k 2| TS A d, dxb=cxb
Ul d-a =24 UGE B ¢, Tl |df RIR &

Options:

36669422633, o2

36669422634, ©19

36669422635,

413
36669422636.

Question Number : 10 Question Id : 3666947192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| 1 .
max < X —2s81mxcosx+ ?5 111 3% ;
D= =7 :

o
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36669422637.

36669422638.

36669422639.

36669422640.

_n+2—3-\.1'§

Str+2+33

s

Question Number : 10 Question Id : 3666947192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

max XY —2sIinxcosy+—sm3y;

O<x=<i
..-

Options:

36669422637.

36669422638.

36669422639.

36669422640.

T+2-33

6

St+2+33

O

1
3

L

o

~

S
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Question Number : 11 Question Id : 3666947193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:f; B
.( ax 3 T dx =
o +6e= +11le” +6

Options:

p

512
51

log,
36669422641,

lo E
OBe| 27

36669422642.

log,
36669422643,

(256
81

o

B [3]
log, —
36669422644, T

Question Number : 11 Question Id : 3666947193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I-

6

iy |J .
: e +6e~ +11e” +6

dx =

Options:

512
lﬂgp( 1
81 ,
36669422641.
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{ 64
l.ﬂgg? 9 T J
36669422642, -

36669422643,

log,
36669422644, -

2

|

-1

Question Number : 12 Question Id : 3666947194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the region enclosed by the curve
f(x)=max|sinx, cosx},-7<x <7 and the x-axisis

Options:

()

36669422645

36669422646

3666942264 7.

36669422648.

Question Number : 12 Question Id : 3666947194 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dib f(x)=max|sinx, cosx|, ~T<x <7 auT x-34&f B T &7 1 4354 g

Options:

2.2( 2 +1
36669422645, v2(42+1)
36669422646,

36669422647,

36669422648.

Question Number : 13 Question Id : 3666947195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L

2022
_ 1 :
Fractional part of the number 18 equal to

-

Options:
1
36669422649, 19

4

36669422650, 1°

e Tal ool ol ko te ol ml.
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|—l
] |

14
36669422652, 19

Question Number : 13 Question Id : 3666947195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2022
1

e~ &1 0T Ui g

15

Options:

{
36669422649, 19

1
36669422650.

]
36669422651, 19

14
15
36669422652.

Question Number : 14 Question Id : 3666947196 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Let ¥y =y (x) and ¥ =,(x) be the solution curves of the differential equation
j"}l = y+ 7 with initial conditions ¥, (0)})=0 and »,(0)=1 respectively. Then
X

the curves y=3,(x) and y = y,(x) intersect at

Options:

36669422653, O pomnt

36669422654, One point

36669422655, WO POInts

infinite number of points
36669422656.

Question Number : 14 Question Id : 3666947196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
M1 3G d TG %:_}r-FTQFmTﬁ@Hﬁa'eﬁ ¥,(0)=0 TUT 3,(0)=1 &
(X
AT A TP BHL: y =y, (x) TUT y=y,(x) Bl TP y=y, (x) T
y=y(x)

Options :
et 2t fiig o 7Y v

36669422653.

Us fig w firad §

36669422654.

2l fagali R fAaa §

36669422655.
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3id feigsii iR fired &

36669422656.

Question Number : 15 Question Id : 3666947197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x* }f!
-+— =1 meet
a6 4
the y-axis at the points A and B respectively. Let the circle C be drawn taking
AB as a diameter and the line x =245 intersect C at the points Pand . If the

tangents at the points P and @ on the circle intersect at the point (&, £). then

Let the tangent and normal at the point (:‘Eaﬁ : 1) on the ellipse

- —ﬁﬂ 1s equal to

Options:
36669422657, °V
61
36669422658,
304

36669422659, 2

314
36669422660. 5

Question Number : 15 Question Id : 3666947197 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~
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2

A1 idgd * Y 1% fog (343, 1) = w1 aur Hf¥ce y-ie 3l

J6 4
sAgl: fagail A quT B8 WX i €1 AT AB &1 U SUTH Ay Wi A1 g4 C @
YT YT x =245, Id C &1 [dg 37 p dUT Q R HIcd! g1 Ffe aa & fagafl p auT
Q W 3 sl &1 ufowed g (a. )8, @ o - p* AR 8

Options:

36669422657, Y

61
36669422658.

304
36669422659, 2

314
36669422660. 5

Question Number : 16 Question Id : 3666947198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let PQ be a focal chord of the parabola y* = 36x of length 100, making an acute
angle with the positive x-axis. Let the ordinate of P be positive and M be the
point on the line segment PQ such that PM:MQ = 3:1. Then which of the
following points does NOT lie on the line passing through M and perpendicular
to the line PQ?

Options:
(3, 33)
36669422661.

36669422662, 7

]
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36669422663, 1

(6, 24)
36669422664.

Question Number : 16 Question Id : 3666947198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OFT Waad % =36x $1 UP AN Slld1 pQ &1 Talg 100 8, S TS
x & T UH Y BV F41 ¢ | AFET P P HIET YA1HP © dyl WERES PQ IR
fdg M 39 ISR 8 f& PM:MQ = 3:1 81 Tl fig M I BT W14 aTell qur Tt
PQ & dadd & | g & J o1 a1 fdg [Rya 18 &2

Options:

(3, 33)
36669422661.

36669422662, 9 49

36669422663, o 1Y)

(6, 29)
36669422664.

Question Number : 17 Question Id : 3666947199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The distance of the point (<1, 2, 3) from the plane r (: —2_} +‘%fﬁ} — 10 parallel to
the line of the shortest distance between the lines r = (i —J) + 3(,2.: + IeJ and
r =(:Zf —j)+p{§—}+£‘] 15

Options:

3.5

36669422665.

36669422666, 2V6

3666942266/. 36

26660422668, 2B

Question Number : 17 Question Id : 3666947199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fag (-1,2,3) I W@I3HT 7 = [E-})m(_zﬁuﬁ-) auT 7 =(2§—j]+p(f -}+;}] & did
YA gl P X1 b GHIGR THAA 7(i -2)+3k) =10 WG B

Options:

3.5

36669422665.

36669422666, 2V6

ARRROAIIRET VO
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2D
36669422668.

Question Number : 18 Question Id : 3666947200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A coin 158 biased so that the head 18 3 times as likely to occur as tail. This coin
18 tossed until a head or three tails occur. If X denotes the number of tosses of
the coin, then the mean of X is

Options:

21

36669422669, 16

15

36669422670, 1O

31

36669422671, 64

97
36669422672, 16

Question Number : 18 Question Id : 3666947200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Us g1 39 TSR f4Ad g fob g & 3 &1 GH1a-1 ue & 3 Bt GH1EA
P A T 8 39 ReF F q@ dF IS ol § 9E dP (P
U ford a1 i ue i o) afe x e &1 I81eq @1 981 &1 g¥idl g, d
X T HIeH ©

Options:

36669422669, 16

15
16
3666942267/0.

31
36669422671, 64

37T

36669422672, 16

Question Number : 19 Question Id : 3666947201 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For xelR, two real valued functions f(x) and g(x) are such that,

g(r]:ﬂ+1 and f{:-g[r}:ﬁﬂ—«f;. Then f(0) is equal to

Options:

36669422673, —°

36669422674,

36669422675. .

]
&collegedunlas
India’s largest Student Review Platform

S



36669422676, °

Question Number : 19 Question Id : 3666947201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
x e R & oTU ) aRfded BaH f(x) TUT g(x) SHUPR G fd g(x)=+x +1
a4l fog(x)=x+3-x 1@ f(0) SR B

Options:

36669422673,

3666942267/4.

36669422675.

36669422676. °

Question Number : 20 Question Id : 3666947202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The negation of the statement ({_.:’1 A(BvC))=>(AvB }] — A is
Options:

a fallacy
36669422677.

a
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equivalent to Bwv ~C

36669422679 equivalent to ~ A

36669422680 equivalent to ~C

Question Number : 20 Question Id : 3666947202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT ((A~(BvC))=(AvB))= A FFEEE

Options:

36669422677, T Y (fallacy) §

26669422678, BY ~CP T ©

36669422679, ~ A P Jd E

36669422680. CHH®

Mathematics Section B
Section Id : 366694417
Section Number: 2

a
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Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Mandatory
10
5

20

Yes

0

1
366694417
Yes

null

Question Number : 21 Question Id : 3666947203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let w=2Z+kz+kiz+A(1+i). ki ky R, Let Re(w)=0 be the circle C of radius 1 in the

first quadrant touching the line y=1 and the y-axis. If the curve Im(w)=0

intersects C at A and B, then 30(AB)" is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 3666947203 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a
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AT w=27 + k2 +kyiz+A(1+i), k. ky e R 8 M Re(w) =0 WYH IGUR | 3575 AT
$1UH g C g, 91 W1 y = 17Ul y-318 P Y Xl 81 S IF Im(w) =0,
9 C H1 A TUT B R PIeal ¢, dl 30(AB) SIRE

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666947204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of seven digit positive integers formed using the digits 1, 2, 3 and
4 only and sum of the digits equal to 12 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 3666947204 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&Hdd 3l 1, 2, 3 dYN4 S WA T 94 9Tl GId 3fh] & TS Quiien], o

3{eh] 1 AN 12 3, DI B §
&collegeduniaa

Response Tvpe : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666947205 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g

: 6
Let & be the constant term in the binomial expansion of \E 3 [,n<15.1f
Sy
the sum of the coefficients of the remaining terms in the expansion i1s 649 and

the coefficient of x ™18 Aa, then A 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 3666947205 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| 0 < 15% UG TR A 3R UG o 31 972 39 VR A AW e ¥

‘{E |
L Fa

TUIET 1 TRT 649 § YT x " BT U Jer®, A ATTRE

Response Type : Numeric

a
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 3666947206 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L]
h_. v

....... 15 equal to

I
I
t
Sl
b
+
I
s
I
| |
t
s
| ]
o
l

The sum to 20 terms of the series 2-

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 24 Question Id : 3666947206 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qOI 2.9% 82 +2.4> 5% +2.6° —..... & 20 UGl H1 AN 8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

a
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10

Question Number : 25 Question Id : 3666947207 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let for x= IR, Su{ )=x, 8, (x)= {‘Afciﬁlj S, (t)dt, where

C.=1LC, =1- %L (x)dx, k=1, 2 . Then S, (3)+6C, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 3666947207 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Al xeR & fAT, S, (x)=x, S,(x)=Cpx+k['S,,(t)dt &, T
C,=1.C,=1- 1; (x)dx, k=1, 2, 3... %ﬁ?ﬁ S, (3)+6C, W%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 26 Question Id : 3666947208 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let m, and m,be the slopes of the tangents drawn from the point P(4, 1) to the

1J -r-:__.;l - - -
hyperbola H : =1. If Q 1s the point from which the tangents drawn to

-ll'. ]

they make positive intercepts ¢ and g on the

H have slopes

(PQY

x-axis, then - 15 equal to
cfy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 3666947208 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 feig p4,1) 9 SffdRady H _.-"’1"' ~1 R Wi 78 Ty ¥araf &l
WU 1, TUT m, 8| Ofd Q 98 fdg 8, o H R il 13 Wl Y@ &
UGUIATY |m, | TUT |my,| § TUT UG TR @I x-3H& R YAHD 3T S

¢ Y1 g SIS, & (ﬁf SR B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

]
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10

Question Number : 27 Question Id : 3666947209 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3

Let the image of the point [q,

D 8
2’ ?] in the plane x-2y+2z-2=0 be P. If the

distance of the point @(6,-2 a), >0, from P is 13, then & is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 3666947209 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 99 x -2y +2-2=0 ﬁ"iﬁg[ﬁ > 8) wrufifie fig p 21 TR fiig

3y’ ’-:J

Q(6.-2.a),a>0 PIGPATH 138, AN g WIRE___

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10
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Question Number : 28 Question Id : 3666947210 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

let G=3i+j-k and ¢=2i-3j+3k.If b is a vector such that a=bx¢ and

i3

-

‘b_'r =al , then |72 - ‘ﬁ- i F‘ 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 3666947210 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Al a=3+;-b A4 =2 -3} +3k g1 OCUH AR h SHUPR g b
| R

G=bxé dul lhn _50 ©, dl 72-[b+¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 3666947211 Question Type : SA Calculator : None

a@
gcollegedumaa
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




et the mean of the data

X

1

r"'l

i

9

Frequency (f)

4

‘) ‘,1

28

cr

8

be 5. If m and o~ are respectively the mean deviation about the mean and the

variance of the data, then

Response Type : Numeric

X
0

m+a”

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

15 equal to

Question Number : 29 Question Id : 3666947211 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 3 5 7
GIECIEGINGD 4 24 28 r
&1 A1 5 g1 Ui 3 i sl & AT & Jraef A1 fage= quT UaRor HH:
m AU o2 T —2%_ TR &
M + g

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

~

S

collegedunia:

India’s largest Student Review Platform



Question Number : 30 Question Id : 3666947212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'||. 1 r+1 ] . T .-’-'Z'H
- . =1 A - —1 -
If S={xe R:sin" | = J— sin” | —= =¥
NX +2x + 2 'A.-r‘ +1 ) -1}

: .
[ . [ 2 N [ 2 ).
then » | sin (.‘I +:r:-|-a); —L{JH({I +x+n]sr” is equal to
i L] --) L Y ’ r

XES

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 3666947212 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: f . ;
’ ¢ x+1 1 X big
Ui%-EI:ﬂIE]R;IS].IIl —gin =—:n%,7:ﬁ

1} " 4
| |22 + 2% + 2 WJxi+el) 4

Z [Eiﬂ[(l‘ﬂ + X + 5}%1— L{Jh(‘:‘rj + X + 5)frn R L % -

*/

L]

o,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

a
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Physics Section A

Section Id : 366694418
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694418
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 31 Question Id : 3666947213 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body of mass (5 = 0.5) kg 18 moving with a velocity of (20 £ 0.4) m/s. Its kinetic
energy will be

Options:

36669422691, (1000 =0.14) T

36669422692, (1000 = 140) J

36669422693, (300 =0.14) ]

36669422694, (300 =140) ]

a
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Question Number : 31 Question Id : 3666947213 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(5 0.5) kg FOUH BT U [UUS, (20 £ 0.4) my/s P 47 77(d PR IET 81 THSR!
i Sl gl

Options:

36669422691, (1000 =0.14) J

36669422692, (1000 =140) ]

36669422693, (300 =0.14) J

36669422694, (300 =140) ]

Question Number : 32 Question Id : 3666947214 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two tramns 'A' and 'B' of length ' and '4{' are travelling mto a tunnel of length L' m
parallel tracks from opposite directions with velocities 108 km'h and 72 km/h.
respectively. If tramn 'A' takes 35s less time than train 'B' to cross the tunnel then.
length L' of tunnel 1s :

(Given L=2601)
Options:
36669422695, 1800 m

36669422696. Y00 m

36669422697, 1200 m

a
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36669422698, 1700 m

Question Number : 32 Question Id : 3666947214 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1T 4] TS, Tl &1 ¢+ 4 Ud B, 'L g, P T (€-1ah) H FHMTR 9 )R
UH-gIR & [quid fa=msii @ hHs: 108 k/h T 72 ki & 977 9 90 G ¢
Tfe; G P IR T H .4 P 27 B W 35 YHUS HH T Y TATE. ol
I P ARG L' B

(a8, L=601)

Options:

36669422695, 1800 m

36669422696. Y00 m

36669422697, 1200 m

36669422698, 2700 m

Question Number : 33 Question Id : 3666947215 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A disc 1s rolling without slipping on a surface. The radius of the disc 1s R. At t = 0.
the top most point on the disc 1s A as shown in figure. When the disc completes
half of its rotation, the displacement of point A from 1ts mitial position 1s

/s

A

a
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Options:

2R fi1+4n2|
366694226909. | |

36669422700, = &

R Jln2 +1]

36669422701.

36669422702.

Question Number : 33 Question Id : 3666947215 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

bl dd TR U (3% f§-1 ey I Gl S oI G®TRE r=0909
R, [$%h &1 ey SR fag A 3. ol foh o= O <2iigr a1 5 | oid ($%@ 31l
3181 T YUl &R <icll 6. ol [9g A D1 5961 YRS [yl 9 fawi= .

A
&
R
Options:
2R fl1+4n2|
366694226909. | |

36669422700, =

36669422701.
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36669422702.

Question Number : 34 Question Id : 3666947216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two bodies are having kinetic energies in the ratio 16 : 9. If they have same linear
momentum. the ratio of their masses respectively 1s

Options:

36669422703, 3 : 4
36669422704, 9 : 16
36669422705. 4 : 3

36669422706. 16 : 9

Question Number : 34 Question Id : 3666947216 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&l UUs] &1 IS FHofleff BT 3HUMd 16 : 9 § | i 31 3@ FaTl JHE 8.
31 SoOHTHI Bl SHUTd 8;

Options:

36669422703, 3 : 4

a@
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36669422704, 9 : 106
36669422705. 4 : 3

36669422706. 10 : 9

Question Number : 35 Question Id : 3666947217 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A bullet of 10 g leaves the barrel of gun with a velocity of 600 m/s. If the barrel of
gun 15 50 em long and mass ot gun 1s 3 kg, then value of impulse supplied to the
oun will be

Options:

36669422707. 12 Ns
36669422708, 3 Ns
36669422709, 6 Ns

36669422710. 36 Ns

Question Number : 35 Question Id : 3666947217 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 g B U el dgab DI el Bl 600 m/s B 97 H BISdl g | i 9P Bl
Tl 50 cm TFE1 © UG dq® @ Go0H 3 ke &, d1 Tl 1 fod T 31T BT I
LI

Options :

36669422707. 12 N=

a
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36669422708. 3 N3
36669422709, 6 Ns

36669422710. 36 Ns

Question Number : 36 Question Id : 3666947218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A planet having mass 9 Me and radius 4R .. where Me and Re are mass and radius
of carth respectively. has escape velocity in km/'s given by:

(Given escape velocity on earth V, = 11.2 10° m/s)
Options:

36669422711. 67.2
36669422712, 33.6
36669422713. 16.8

36669422714, 11.2

Question Number : 36 Question Id : 3666947218 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0 Me So0HT Ud 4 R. 01 9161 U U8 W ks T UG 971 §: (W61 Me U4 Re

AR udl & gogHH Ud 31 7)
&collegeduniaa

S

e, gl WUama AT v, = 11.2 = 10° m's)




Options:

36669422711. 67.2
36669422712, 33.6
36669422713. 16.8

36669422714, 11.2

Question Number : 37 Question Id : 3666947219 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The figure shows a liquid of given density flowing steadily m horizontal tube of

. ” 4, - - 2 l g
varyig cross - section. Cross sectional areas at A1s 1.5 cm”. and B 1s 25 mm~, 1t
the speed of liquid at B 15 60 em/s then (P4 —Pg) 15 :

(Grven P, and Pp are liquid pressures at A and B points.

density p= 1000 kg m™

A and B are on the axis of tube
Options:
36669422715. 27 Pa

36669422716. 175 Pa

36669422717, 133 Pa
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36669422718. 30 Pa

Question Number : 37 Question Id : 3666947219 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fer1, gfad-=ita 3w @1e arelt afa ot J fau 5T T ATt R ¥ §

W@T{ﬁ'ﬂ mlﬂﬁfﬁiﬁdﬂﬂ.‘l 5tamﬂwwm|&mmmmﬂ ‘613'1131:5{
g 25 mm”* %I < B U 5d &l 91d 60 em/s© d (P y —Pg) Pl HI- %'r:

(f&a18.Py, Py fegA. BIRPIW: Gd H qd g1 A Ud B el & 3H& W )
(p=1000 kg m™)

Options:

36669422715. 27 Pa
36669422716. 173 Pa
36669422717. 135 Pa

36669422718. 30 Pa

Question Number : 38 Question Id : 3666947220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under isothermal condition. the pressure of a gas is given by P = gV, where a is

a constant and V 1s the volume of the gas. The bulk modulus at constant
&collegedumaﬁ
India’s largest Student Review Platform

temperature 1s equal to




Options:

36669422719, 3 P
36669422720. 2 P

36669422721. P

P.
36669422722. 1

Question Number : 38 Question Id : 3666947220 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L4
—
|
| |

JOdg IR E [P T BTG P=aV"> &, 98] ¢ U [LRIP T V IY
&1 1A ¢ | TR a1 TR 31— Ui o:

Options :

36669422719. 3 P
36669422720. 2 P

36669422721, P
Pa
)

36669422722.

Question Number : 39 Question Id : 3666947221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1




The rms speed of oxygen molecule in a vessel at particular temperature 15

1

‘r 14—
(Take = 2)

Options:

36669422723. 4
36669422724, §
36669422725. 27

36669422726. 18

512 , - Where v 1s the average speed of the molecule. The value of x will be -

Question Number : 39 Question Id : 3666947221 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feh il f1ad d19 U=, U dcl H SURYT SHTaHTo 719 & AU B rms (371 HTEH

t_ll P

) =@1d

h'

|1+—

Options:
36669422723. 4
36669422724, 8

36669422725. 17

36669422726. 18

Wil

BT

ol v I

[ 1 3

T

¢

AAd &l x BIT

il

411

~

S
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Question Number : 40 Question Id : 3666947222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which graph represents the difference between total energy and potential energy of
a particle executing SHM vs it's distance from mean position 7

Options :

Lucrgy

36669422727, A 0 YiE-

36669422728. A 0 ‘A 2

‘a

\_/

36669422729. A [ bl X

A\
AN

i

36669422730. A (

]
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Question Number : 40 Question Id : 3666947222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I AT Tid PR gU (bl B0 Bl o Soll Ud RUfd FHuil & SiaR B
=q%| A1 [RUfd I 9= & 1Y (@9H) I (RE) S 91 6:

Options:
Fucrey
/ |
36669422727. -4 () L4 X
Energy
/N
/| \
36669422728, 4 0 A X
I’ Enerm /
36669422729, A "0 i X
Energy
36669422730. A 0 'A X

collegedunia:
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Question Number : 41 Question Id : 3666947223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3
J_a_f+1

water in 5 minutes and 50 kg water 1n 2 minutes respectively from a well of 100 m deep.
The value of x will be

The ratio of powers of two motors 13 . that are capable of raising 300 kg

Options :

36669422731. 2
36669422732, 4

36669422733. 10

36669422734, 1-4

Question Number : 41 Question Id : 3666947223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 A3 D idad! &1 3Urd j_“";l g. il fh AR 5 e @ 2 e
=t |
U 300 kg Ud 50 ke UM &1 100 HIEX e U Y 33 H WA § | x B A

Rl

Options:

36669422731. 2

36669422732. 4

36669422733. 10

a
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36669422734, 2-4

Question Number : 42 Question Id : 3666947224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Maxwell's equation 1s valid for tume varying conditions but
not valid for static conditions :

Options:
=3 —
36669422735, ¥ 5 d =Myl
b Bl
q:n_E'- Ifﬂ — e — o
36669422736. o

a — —
ssEEadzzTsy, PP -dd =0

'j E-dl=0
36669422 /38.

Question Number : 42 Question Id : 3666947224 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9§ 9 ©H 91 deqdd e, THyg-uiad! gRfefadl & feu dl du g fog
Qiide Uikl & fau 9y =5l 6

Options:

n — —
36669422735, P B dl =]
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=% =3 E]'-[:}E
PE-dl = ——
36669422736. cif

s6669472737, DD dd =)

[" E-dl =0
36669422738. -

Question Number : 43 Question Id : 3666947225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The source of time varymg magnetic ficld may be
(A) apermanent magnet

(B) an electric tield changing linearly with time
(C) direect current

(D) a decelerating charge particle

(E)  an antenna ted with a digital signal

Choose the correct answer from the options given below:
Options:

36669422739, (4) only

36669422740, (D) only

36669422741. (C) and (E) only

36669422742, (B) and (D) only
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Question Number : 43 Question Id : 3666947225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g URdd! D g & BT Hid 8l Thdl &:

(A) TP Rl FE

(B) THY & WY IW@Y Y I URaldd gidl Us fayd &=
(©) TQFURI

(D) He B g3 U AR Bl

(E) U UleHr feioied N Haw & 91y

14 1<U T faeedl § ¥ el IR T4

Options:

36669422739, P0d (A)

36669422740. $dd (D)

36669422741. $ad (C)Td (E)

36669422742, 990 (B) T4 (D)

Question Number : 44 Question Id : 3666947226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A vessel of depth 'd’ 1s halt filled with o1l of refractive index n; and the other half
18 filled with water of refractive mndex n,. The apparent depth of this vessel when
viewed from above will be-
Options:
d i,

-:l ' . X |

36669422743, 211 T2

QAALAAADDTAA
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a 1,
fL_ iy + 1, _j

2d (n, + 1, 'J

36669422745, '

d ﬁ i1y + 1, |

36669422746. =

Question Number : 44 Question Id : 3666947226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 'd' 78R 9Tl §ciH, n, HUda-id ald da 9 AT U3 6. Ud FIH| Dl 1T
n, AP aTdd G H HRT 8 | 976 59 a1 DI HUR o 9@ 9l 8, dl S9!
STHTHT TeRTg, Bl

Options:

d 1,1,
36669422743, -\ T 1)
(f 1,

36669422744, M T 71

2d {ny + 1, ]

36669422745, "'

d|n, +n, \

36669422746, ="'
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Question Number : 45 Question Id : 3666947227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The difterence between threshold wavelengths for two metal surtaces A and B
having work function @ , =9 el and ¢, =45 el innm is:

tGiven, he = 1242 ¢V nm }
Options:

36669422747, <°*

36669422748, U

276
36669422749,

36669422750, 138

Question Number : 45 Question Id : 3666947227 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
cyf@EFEF¢£={5MW¢M¢N#mﬁﬂﬂmmhmﬂAE¢3$aaﬁ
RG] BT 3d am H ©:

(el She=1242¢V 11171 )
Options:

36669422747, =24

36669422748, 4U

o s
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36669422750, 138

Question Number : 46 Question Id : 3666947228 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

238 4 . 234 B
g7 A—gp B + ELJ'+Q

In the given nuclear reaction. the approximate amount ot energy released will be:

[Given. mass of Eﬁgi = 238-05079 x 931.5 MeVic~,

mass ot -&SJ'B _234-04363 x 931-5 MeV/c?.

mass of j D = 400260 x 9315 Me"v’:’cl]

Options:

36669422751, 3-82 MeV
36669422752, 4-25 MeV
36669422753, 3-9 MeV

36669422754, 212 MeV

Question Number : 46 Question Id : 3666947228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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238

0y A %554 B+ jDJr @,
&1 718 AYE T ffehar 3, o 85 ol &1 THT O SHT:

(e ®. 235 .4 1 Go0HM = 238-05079 * 931.5 MeV/e?,

234 p T GOTHI = 23404363 % 9315 MeV/c?,

Of)

4 D BT S = 4-00260 x 9315 MeVie?)
Options:

36669422751, 3-82 MeV
36669422752, 4-25 MeV
36669422753, 3-9 MeV

36669422754, 2-12 MeV

Question Number : 47 Question Id : 3666947229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the following circuit and given mputs A and B. choose the correct option for
output '’

. o

Options:
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2 "3 4 *+5
| | | | | |
P! I | | | s s |
y— 2N 2 0
36669422756. | | | | | |
E]- r: E‘I:‘!. I_l I:-'-. Iﬁ
| | | | | |
! ! ! ! 1
| | | |
Y- == s a5 i = e )
36669422757. | | | | | |
b by By By B
| | | | | |
= e sl i g s faves sasess |
Y I S 0
36669422758. | | | | | |

Question Number : 47 Question Id : 3666947229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1d fSU 710 9RRuy ud 991l (599¢) 4 U4 B @ oy, f4id (3M13eYe) 'y & fou
el fddhed I:
I Iy 1y I &

3

!
A @ D: ‘.1_" :" -
[::::::): T (inputs), |, | |
|

Options:

II.-""
36669422755. |
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2 3 3
| | | | | |
S - | | | S i,
. . R 0
| | | | I |
Il I_-;. EE. I-l IE Iﬁ
| | | | | |
Y--- I T SO S S
36669422757 T
E]. Ij 11:3 I‘_i_ I_:_I Ilj
| | | | | |
= = e A S =S s e )
| | | |
F | ] | |
36669422758, L 7 r 1 b

Question Number : 48 Question Id : 3666947230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List - [ with List - I

List-1

(Layver of atmosphere) | (Approximate height over earth's surface)

(

(B D - Laver

(C) Troposphere

V) 65-75

Choose the correct answer from the options given below:

Options:

36669422759, A—1II. B -1V, C-1IIL.

km

1)—1

36669422760. A—IIL. B—-IV,C-1,.

D =11

List - 11

Y 170 - 190 km
(1) 100 km -

~

S
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36669422761. A—1L, B-IN, C—-1, D -1l

36669422762 A-IL.B-1, C -1V, D111

Question Number : 48 Question Id : 3666947230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl - 1 BT Yt - 11 9 5 -

(1) 170-190 km |
(II1) 100 km .

e feu e fawedt § € 98 S g
Options:
36669422759, A-II.B-IV.C-III. D -1

36669422760. A—IHLB—-I¥, C-1. D -1

36669422761, A—1l, B—-IV, C -1, D—11]

36669422762 A—1I.B-1, C -1V, D—1II

Question Number : 49 Question Id : 3666947231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Two charges each of magnitude 0.01 C and separated by a distance of 0-4 mm

constitute an electric dipole. If the dipole 1s placed 1n an uniform electric field ' ¢

—
L

of 10 dyne/C making 30° angle with 7. the magnitude of torque acting on dipole

19"

Options:

36669422763. 1-0 ¥ 107° Nm
36669422764, 2-0 = 10~° Nm

36669422765. 4-0 = 1071 Nm

36669422766. 1-5 * 1077 Nm

Question Number : 49 Question Id : 3666947231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.01 C URUIH aTdl &l a0 Sl fh Ueh-goR ¥ 0.4 mm DI g3 IR 5, U (Y

U CERIECH R CECAF CEaRUES

51/ R

T Tl (9731 UH AT [dYd &4

" 7 I 30° DD §Td gU @[ 914
a:IHH &
Options:

36669422763. 1:0 x 10~° Nm

36669422764, 2-0 * 1071Y Nm

36669422765. 4-0 x 10~1Y Nm

36669422766. 1-5 x 1077 Nm

g, 11 fa8d IR PriRd samguf & g

~
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Question Number : 50 Question Id : 3666947232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ditferent combination of 3 resistors of equal resistance R are shown mn the figures.
The increasing order for power dissipation 1s:

AUAYarL
R R
(A) s L e
i R
AAVARL
R R
B) } .
! R
LTAvaRL
R
ATATATL
& o Al .
R
LAY AT L

D) I _

Options:

36669422767, tA<~ PB<Pc=Pp

36669422768.
36669422769, Fc = Pp=Pa <Pp

36669422770. FB = Pc<Pp <Py

Question Number : 50 Question Id : 3666947232 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




i O gu ufaRiyeddl R aTd 3 WAl & Sav1-3ia Saie- Uefid 8 | 2fad

&0 @ foTU gedl g A &:

ey
R R
(A) t: i
I R
A
K K
(B) } .
I R
Ml
R
Wty
© .
K
AT AT,

Options:

36669422767, A= Ps<Pc<Pp

36669422768, LC =~ PR <FPa<Pp

36669422769, Fc = Pp=Pa =Py

36669422770. FB=Pc<=Pp <Py

Physics Section B

Section Id : 366694419
Section Number: 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10

~
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Number of Questions to be attempted : 5

Section Marks: 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 366694419
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 3666947233 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radius ot Eﬂd orbit of He of Bohr's model 15 1 and that of fourth orbit of

; DT . s : . -
Be”" is represented as #,. Now the ratio =1sx: 1. The value of x 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 3666947233 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIgY AISd & He™ @I fgdid D&l DI A r, 8. Ud 5D Be?™ @I gy H&1 Bl

=l -, B 1 Ofg 3T -’;—-%’1 11 A x BTHA gl

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666947234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fish rising vertically upward with a uniform velocity of 8 ms™'. observes that a
bird is diving vertically downward towards the fish with the velocity of 12 ms™.
It the refractive index of water 1s % . then the actual veloeity of the diving bird

to pick the fish, will be ms .

Ly

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 3666947234 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R ms~! & USHIHH 971 H SR SR 384! g8 UP HEdl odd| § [ U
STl Tad & P SEIUR T BT 3R 12 ms ! S I (el ol A gl
@1 SUqcHi® 2 8, 0 A B Uhs- (I8M) P o fafsar @1 arfas an

ms Ehﬂ |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666947235 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n the given figure, an inductor and a resistor are connected n series with a battery
RSP R -. . . +
of emt E volt. —_J /s represents the maximum rate at which the energy 1s stored
2h

in the magnetic field (inductor), The numerical value of 2 will be
a

— 8 Ay
T=AH R=25L)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 3666947235 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[GU §U <A . Ush U Ud U UICRIY E volt [dGgd dlg® §d (emf) dlcil U
s FgUIiEraSe sl £, 39 Afman X & veffd exars. o

2h

R TEHIT %ﬂﬁmﬁ@'ﬁmﬁﬁﬁ%l%ﬁ&ﬁ%m g

||

'
E

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 3666947236 Question Type : SA Calculator

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A thin infinite sheet charge and an infinite line charge of respective charge
densities + ¢ and + A are placed parallel at 5 m distance from each other. Pomts P’

3 4 . . = ,

and 'Q" are at —m and —m perpendicular distances from line charge towards
-11 i

sheet charge. respectively. 'Ep' and Eq’ are the magmtudes of resultant electric

field intensities at point 'P' and 'Q'. respectively. If o= for 2|c| =|L]|. then
) {

the value of g 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

~
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Question Number : 54 Question Id : 3666947236 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP S HTAIRIT ¢ Ud TP S WA ¥ & SHTGR g9 AT + 6 Td +
LB, O E?Hd?-q@if@ﬂnaﬁgﬁm ucp IR & JHHR 9 B | 1@ a9 4

HTGRId T Pl RSP HH: —m U4 —m o] TEad gl IR fag P'Ud 'Q §
|EP@EQW%PEQWWM¢@ & @ digdrsff & aRam g
|Uiifz\gr=\1|$ﬁ1r{?_a€a“'ra GARSIE d

2,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 3666947237 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The elastic potential energy stored 1 a steel wire of length 20 m stretched through
i,

2 em 18 80 J. The cross sectional area ot the wire 1s mm-.

(Given. y=2.0 x 10 U Nm™)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 55 Question Id : 3666947237 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 20 m T dR D1 2 em AP Wid 9F IR 90 Jd TR RRIfGS Sl 80 7
81 R B IR DI T A5 mm? B |

(Eiﬂ 3. y=2.0% 101 Nm™)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666947238 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid sphere 1s rolling on a horizontal plane without shipping. It the ratio of
angular momentum about axis of rotation of the sphere to the total energy ot
moving sphere 1s m: 22 then, the value of its angular speed will be

rad/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 3666947238 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




fepit &fcroT aet UR. Uep 314 il f&1 ftheed Tgh <@ & | A T1icd & Ui &
3 & URd: SHD DIUIG a7 B, g §U IS DI Pl ol § U 7 : 22 B.
#WWWWW rad/s %l

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 57 Question Id : 3666947239 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At a given point of time the value of displacement of a simple harmonic oscillator
1s given as v = A cos (30°).
It amplitude 15 40 cm and kinetic energy at that time 1s 200 I. the value of force

constant is 1.0 * 10° Nm L. The value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 3666947239 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Tl 4T §U T R TP WA A1ad $ (GG &7 711 fodl fag R a0
[SATTATE v=A cos (30°)

gfe 39 999 IR A9 39l 200 T UG 3{T0TH 40 cm 5. 4l 90
FOdi® 1.0 < 10° Nm~! 81 x BT HH ol

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666947240 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a resistance of 5 € 13 shunted with a moving coil galvanometer, 1t shows a

tull scale detlection for a current of 250 mA, however when 1050 & resistance 1s connectead
with 1t m series, 1t gives full scale deflection for 25 volt. The resistance of

galvanometer 13 £,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 3666947240 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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oid foh il Id Secil URTETYT & 1Y 5 ©Q 1 JioRIY 914 H T I h] Sidl € dl

250 mA URT & Qg qul fa&iy (e Thd fdey) weRid giar g, gidife e 5dd
1Y 1050 © BT HfcRIY Yufl HH T TSI § ol TS 25 volt & fag gul [aey

<l © | YR &1 Wikl QFl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 3666947241 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
From the given transfer characteristic of a transistor in CE configuration. the value
of power gain of this configuration is 10*, for Ry =10k Q. and R~ =1k Q. The

value of x 15

I =(mA)

_I_I_I_I_lé
100 200 300 400 500 Iz~ (eA)

(0. 0)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 59 Question Id : 3666947241 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IHTHY IHolD (CE) UG U, Ush rf=ieex & (4T §U R0l SIEREIE
Rp =10k QU R, =1k Q& AU, 39 THGTTH DI Yl Tl 10* U gidl

B x PITAM ol
Ic=(mA) T
50
41
20
10
(0. 0)

100 200 300 400 500 Is=(uA)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 60 Question Id : 3666947242 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A potential V 1s applied across a uniform wire of resistance R. The power
dissipation 1s P;. The wire 1s then cut into two equal halves and a potential of V| 15
applied across the length of each halt. The total power dissipation across two
wires is Py. The ratio Py : Py is fy - 1. The value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 60 Question Id : 3666947242 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R UfoRIY aTel fodl UesdE drR & BRI R v, f[dyd sRifud fegr Srar g | st

Ifdd & P, §1 3d IR PI 3l S7aR YT H H1eT 9I1dT ¢ U T 3118 U &
RRI R v, fava Riftd farar ST €1 31 aRi & IRl R oo wfad &fd p,

813U P, : Py BIHM fy -1 €1 x BT HA gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 366694420
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
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Sub-Section Number: 1

Sub-Section Id : 366694420
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 61 Question Id : 3666947243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy of an electron in the first Bohr orbit of hydrogen atom 1s
-2.18x10°'® J. Its energy in the third Bohr orbit is

Options:

36669422781. One third of this value

J th of this value

36669422782, Y

36669422783, Three times of this value

| .
o of this value
36669422784, ~

Question Number : 61 Question Id : 3666947243 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS Iu URHTY D YYH §R H&l H SadacH Dl FHoil -2.18+107187 FI g aR
T H STD! Sl b

Options:

36669422781 59 HIH @1 U fdglg

a@
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36669422782.

ﬁnﬁfﬁr%

36669422783, 9 HIH P11 T

36669422784,

2 HI- EPF—T

Question Number : 62 Question Id : 3666947244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the tollowing processes, the bond order increases and paramagnetic

character changes to diamagnetic one ?

Options:

36669422785. NO— NO

36669422786. ©2 — Oz

36669422787. Y2 — O™

36669422788, No—N> "

Question Number : 62 Question Id : 3666947244 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hijf%ﬂ‘?@?rfrﬁﬁmwﬁ&

A TTAH T T

0 oA = =3

@ SH Gl § HIR HTIHED [ 01 BT Uid

'

~

S
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Options:

36669422785. NO— NO

36669422786. O2 — 02’

i =
36669422787. U2 — 077

36669422788, No— Ny

Question Number : 63 Question Id : 3666947245 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
What happens when a lyophilic sol 15 added to a lyophobic sol?

Options:

36669422789 Lyophilic sol 1s dispersed in lyophobic sol.

36669422790 Lyophobic sol 1s coagulated

36669422791 Film of lyophilic sol 1s formed over lyophobic sol.

36669422792 Film of lyophobic sol 1s formed over lyophilic sol.

Question Number : 63 Question Id : 3666947245 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 BId1 © 9d U Zaxiil Hicl & gafaxri 9 & e ad 8 2
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Options:

36669422789 gafaer 9ia o gaertt 9iqd fagfela HESIGI E‘I

36669422790, AN HId B &ha- ol WIdl o |

36669422791, KA HId U GARFI Hidl ®f Ud [hed §- ol B

36669422792 SARITI Tld U gafdRAll 9id &l U (Uhed §- Sl o |

Question Number : 64 Question Id : 3666947246 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are not correct 7

A. The electron gain enthalpy ot F 1s more negative than that ot Cl.

B. Ionization enthalpy decreases 1in a group ot periodic table.

C. The electronegativity of an atom depends upon the atoms bonded to 1.

D. Al,O; and NO are examples of amphoteric oxides.

Choose the most appropriate answer from the options given below :

Options:

36669422793, A- B and D Only

36669422794 A.B.Cand D

36669422795, B and D Only

36669422796, A- C and D Only
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Question Number : 64 Question Id : 3666947246 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g S S Y FYT 98l A8l & ¢

A. C1 I Ul F i saiagH die TRIed! 3 BUTHSP ¢ |

B. Hdd 9RO & YU H g9 Tayal gedi 5 |

C. U q?;g;ﬁ [dggd BUTAS ST AEId O AT IR 1R
Bl B

D. Al,O, TUT NO IUGYH] TSI D IaeI0 G |

19 €1 U fapeul § 9 walfde 3fed SR g

Options :

36669422793. Hdd A. BTAUID

36669422794, A.B. C ddl D

36669422795, Bdd B dUI D

36669422796. hdd A, CAUID

Question Number : 65 Question Id : 3666947247 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of the tollowing 1s most likely a mismatch ?
Options:

36669422797. Titanium - van Arkel Method

36669422798 Nickel - Mond process
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36669422799 Zinc - Liquation

36669422800 Copper - Electrolysis

Question Number : 65 Question Id : 3666947247 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafaiad & 9 &H 91U Hgedy uifdd s9d ©:
Options:

36660422797 CISci-dH - gH3AReGd [dlY

36669422798, M d - OIS WY

36669422799, Toid - GIATcH

36669422800, PN - GGG HTHA

Question Number : 66 Question Id : 3666947248 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [: Permutit process 1s more efficient compared to the synthetic resin
method tor the softening of water.

Statement II: Synthetic resin method results in the formation of soluble sodum
salts.

In the light of the above statements. choose the most appropriate answer trom the

ontions ociven below:
&collegedumaa
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Options:

36669422801 . Both the Statements I and II are correct

36669422802 Both the StatementsI and II are incorrect

36669422803. Statement I 1s correct but Statement II 1s mcorrect

36669422804, Statement I 1s incorrect but Statement II 15 correct

Question Number : 66 Question Id : 3666947248 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fasipyafeus

PYU 1 - G o 1918 Bl SUET IREG[CC WehH oid Bl Jg DA H 3HUD

TEH B |
HY 11 - G Yo fafd & gemeita Sifsas e 994 B

SWRIad HYAl & fU i f[Gu 1 fawedl § 9 galive 3fkd 3¢

Options:

36669422801 PU I ddl dry- 11 GIE: E?F %I

366694228072 PUA 1 AUI FYA 11 41 Hal 76l ol

26669400803 U 1 HBI § U] BY 11 HE! 78l g

26660420804 YA 1Bl Al § U] YT 11 Tgl B

g

~
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Question Number : 67 Question Id : 3666947249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Be(OH), reacts with Sr{OH), to yield an 1onic salt. Choose the mncorrect option

related to this reaction from the tollowing

Options:

36669422805 DBoth Srand Be clements are present in the 1onic salt.

36669422806 Ihe reaction 1s an example of acid - base neutralization reaction.

36669422807 Lhe element Be 1s present in the cationic part of the 1onic salt.

36669422808 Be 1s tetrahedrally coordinated in the 1onic salt.

Question Number : 67 Question Id : 3666947249 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

St(OH), ¥ Be(OH), SUfehdl e TP 34 Flee gl ¢ | FHfdRad @ ¥ 39

3Hffdar @ for <1l fdsed 9gl gl 6. 39! 4T

Options:

36660422805 Gl dd Sr dyT Be HAH® Hlee § 3URRUd 8id B

36669422806, HIHIHUT -&R I G0N A iichdl & U 341630 6 |

26660422807 O Be JAM® Tlee & YA YT H IUUd Bidl ¢

36669422808, HTUIH® Hlee H Be Iqvha® g 30T

gagiford gidi o

~
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Question Number : 68 Question Id : 3666947250 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CIF5 at room temperature 1s a:
Options:

36669422809 Colourless liquid with trigonal bipyramidal geometry
36669422810 Colourless liquid with square pyramidal geometry

36669422811 Colourless gas with square pyramidal geometry

Colourless gas with trigonal bipyramidal geometry.
36669422812. N ) B

Question Number : 68 Question Id : 3666947250 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CIF; HHY & TI9HH R g U -

Options:

36669422800, 316l &d fog@| Fa ol GRS s o

36669422810 {J[Eﬂ"l ad ool a1 foRrast st %E

36669422811, Vel 1Y forg®! &t ORIt sofafd g |
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IeH 119 forget Benig Biiist sfafd g

Question Number : 69 Question Id : 3666947251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The incorrect statement from the following for borazine 1s:

Options:

It 15 a cyelic compound.
36669422813.
36669422814 It contains banana bonds.

36669422815 It can react with water.

It has electronic delocalization.
36669422816.

Question Number : 69 Question Id : 3666947251 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FoiH & o FfRad § 9 &5 9T $Y9 9ol 7ol o

Options:

36669422813, U8 dAh1d I B

36669422814, S9H dl 84 Bld 6 |
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£

26669422815 U8 oid o fTHar &= IFHdl g |

36669422816. gUH SUgE-® Aldedo- gidl H

Question Number : 70 Question Id : 3666947252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pair of lanthamides i which both elements have high third - ionization energy
1S

Options:

36669422817, Eu. Gd

36669422818. Eu. YD

36669422819, Dy. Gd

36669422820, Lu. Yb

Question Number : 70 Question Id : 3666947252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AUAIS] 1 a8 g forgd i1 dadl & gdid g4 &oll 3= §

Options:

36669422817. Eu. Gd

36669422818, Eu. Yb

a@
gcollegedumaa
India’s largest Student Review Platform

S



36669422819, Dy- Gd

36669422820. Lu. Yb

Question Number : 71 Question Id : 3666947253 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The mismatched combimations are
A. Chlorophyll - Co

B. Water hardness - EDTA

C. Photography - [Ag(CN),| ™
D. Wilkimson eatalyst - [(PhyP);Rh(Cl]
E. Chelating ligand - D-Penmicillamine

Choose the correct answer trom the options given below :

Options:

36669422821, A- C. and E Only

36669422822, A and C Only

36669422823, A and E Only

36669422824, D and E Only

Question Number : 71 Question Id : 3666947253 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
dOd HaieH §

A. FARITHT - Co

B. OIc] ! BRI - EDTA

C. BICRITPI - [Ag(CN),] -

D. Tdfe® -0 3D -[(Ph3P)3:RhCI]

E. BIcileT el - D-UHRIEuHEA
- feu faeedl § 9 gel TR gHU

Options:

36669422821, PAT A, C, R E

36669422822, Bdd A 3R ¢

36669422823, Bdd A AN E

36669422824, $dd DI E

Question Number : 72 Question Id : 3666947254 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The radical which mainly causes ozone depletion in the presence of UV radiations
18 :

Options:

36669422825. NO’

36669422826. OH

36669422827, Cl'
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Question Number : 72 Question Id : 3666947254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gaeh ol §% &4 9 G671 fafdul &1 Sufeufd § 3ol &0 $d 5.8 6 -

Options:

36669422825, NO°

36669422826, OH

36669422827. C1

36669422828, CHa

Question Number : 73 Question Id : 3666947255 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among the tollowimng compounds. the one which shows highest dipole moment 1s

Options:
36669422829, <;> @

()

36669422830.5ﬂ%§3
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]
36669422832, ¥~ |

Question Number : 73 Question Id : 3666947255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
FofaREd difie] 3 9 o S=ad fgyd 3myuf axidis. 98 & -

Options:
36669422829. <;> @

()

36669422830.55%25
36669422831. |_=P<—

[}- |
36669422832,

Question Number : 74 Question Id : 3666947256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the tollowimg reaction X'i1s

Aﬂﬂ‘_’{p’ﬂj{:ij |
CH; (CH,)4 CH; = +'%

'

major product
Options :

36669422833, CH3(CH;),CH,Cl

36669422834, C1-CHy~(CH;),-CH,-Cl

36669422835. ety

CH,CH —(CH,),CH,
|
36669422836,  “Hj

Question Number : 74 Question Id : 3666947256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TafaRad sfvfhar 4 g

Anhy. AICh
CH;(CH,); CH; o

-}IXI

Options:

36669422833, CH3(CH,)4,CH,CI

36669422834, C1-CH;-(CH;),-CH,-Cl

36669422835.
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Ay
H.C CH,
|
HJC‘. CH,
= CH, /

CH,CH —(CH,),CH;,
|
36669422836,  C“H:

Question Number : 75 Question Id : 3666947257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2-Methyl propyl bromude reacts with C;H;O and gives 'A' whereas on reaction
with C5;H<OH 1t grves 'B'. The mechanism followed 1n these reactions and the

products 'A' and 'B' respectively are
Options:

36669422837 SN2- A = 1so-butyl ethyl ether; Sy1. B = tert-butyl ethyl ether

36669422838 Sn1. A = tert-butyl ethyl ether; Sy2. B = 1so-butyl ethyl ether

36669422839 Sn1. A= tert-butyl ethyl ether; Sy 1, B = 2-butyl ethyl ether

36669422840 Sn2. A= 2-butyl ethyl ether: Sy;2. B = 1so-butyl ethyl ether

Question Number : 75 Question Id : 3666947257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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2- TYE HifUd sAES C,H-0™ ¥ AUl e A &dl § 5la®| g8 C,H-0H
3 Sl o B SdT®

& Sififeransi gRT s foran fafd auT 3@rg & ok B H9: 8

Options:

36669422837 SN2, A= HZH-Sg[cd UIUT SUT: Sy 1. B = tert- sgfcd UIUE g4

26660400838 Sxl. A= tert SIfCT UIUT SUR: Sy2. B = IgHI-Yfed U g2

26660429839 Sxl. A= tert-S[CT TYE SUT: Sy 1. B = 2 offed Uil 52R

36669422840, Sn2.- A= 2-80fcd T TUT: Sy 2. B = TS Hl-sgfec U gu¥

Question Number : 76 Question Id : 3666947258 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OH

l 5 . major product
A

s

In the above reaction. lett hand side and right hand side rings are named as 'A
and 'B' respectively. They undergo ring expansion. The correct statement tor this
Process 1s:

Options:

36669422841 Finally both rings will become six membered each.

36669422842 Fmally both rings will become tive membered each.

36669422843 Ring expansion can go upto seven membered rings
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36669422844 Only A will become 6 membered.

Question Number : 76 Question Id : 3666947258 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OH

| H_, 7&] 3dle

.‘f A~ j
)

JURIE SMHfeaT | Gl 3R U1 a1l 3R & aad| & Ha: A’ JUT B TH fau
a1 o1 59 SifYTehal # 54 g0 &1 [9%IR ©idl ol 59 UhH & [0l J51 $YF 6 -

Options:

36669420841 31d H &Fl 9adl § U Yd® ©: Ga& Bl SIa|

36669422842 3id H GIHi deadl H 9 Y Yid Headig gl Siei|

36669422843 ITd USHI T 90T g dP dad [dR &l 9Fdl 6|

36669420844 DAA A D: Y Bl AL

Question Number : 77 Question Id : 3666947259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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In the reaction given below

‘ﬂe
NaOH. A
|— >_ :l {1} | 'A'
(11) H Major Product
'A' is
Options:
MeHN~., ~. _~COOH
36669422845, L g N
M
_IL><:JJ|
36669422846. | OH
Me

— N
j OH
36669422847. %

36660422848 MeHN ~ -~ __~ClO

Question Number : 77 Question Id : 3666947259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== &1 Tt sifH s |

Me

\
N
r /EO () NaOH.A
(1) H” SRR

A %

Options:

MeHN SN T s COOH
36669422845, g S
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AMe
| Ol

[ X

36669422846. OH

M
|

j OH
36669422847

36669422848, McHN ~ -~ _~ 1O

Question Number : 78 Question Id : 3666947260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the reaction given below

H,N *
B' 15 ;
Options:
S8
36669422849, -

36669422850, ™M

36669422851.
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36669422852, ™

Question Number : 78 Question Id : 3666947260 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EGIRICIRE IR IR

IEI‘ %

Options :

Y, .
36669422849, NI,

36669422850, ™MH:

36669422851.
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36669422852, NH,

Question Number : 79 Question Id : 3666947261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the following

[ CohmwA [ CohmmB

. a) Nylon 6 [ Natural Rubber

b) Vulcanized Rubber | IL Cross Linked '

c) cis-1, 4-polvisoprene I11. Capml-r:tam
| d) Polychloroprene 1 v Neoprene

Choose the correct answer from options given below ;

Options:

36669422853 a—IL. b—IIL. ¢—IV, d—I

36669422854, a—1I1. b—IL. e—1. d—IV

36669422855, a—I1II. b—IV. c—I, d—II

36669422856, a—1V. b—IIl. ¢—IL d—I

Question Number : 79 Question Id : 3666947261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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FEeIRdd HIeHI A TUT B DT THA DI -

. U
' P IR

dthﬂdﬂh{

9 fou e 3 4 98 IR rgI?uJ,;

Options:

36669422853, a—Il. b—IIL ¢—IV. d—I

36669422854 a—IIl. b—Il. e—I. d—IV

36669422855 a—I1II, b—IV, ¢c—I. d—II

36669422856 a—IV. b—IIIL. ¢—II, d—I

Question Number : 80 Question Id : 3666947262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

)HCN
D -(+)- Glyceraldehyde i) H,0/H~
iii) HNO.

The products formed in the above reaction are
Options:

36669422857 1wo optically active products

36669422858 One optically active and one meso product

Two optically mnactive products
36669422859.
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36669422860 One optically mactive and one meso product.

Question Number : 80 Question Id : 3666947262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
e W W e | HEN

D (+) FereRfessTgs ﬂl; T

iii) HNO.

JURIE 3HfUhar § 349 IdIS -

Options :

36669422857, &l YAl YUId 3T &

36669422858 W@ HdU \;i\Ui‘Cﬁ Jdlg % dyl Udh JEp) (meso) JMHIq iE‘f |

<l 4aur 3TYuidh II1E & |

36669422859.

Udp Hal] @ﬂw % 3R U Ol (meso) IS S |

36669422860.

Chemistry Section B
Section Id : 366694421
Section Number : 6
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
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Enable Mark as Answered Mark for Review and

Yes
Clear Response :
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 366694421
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 81 Question Id : 3666947263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
KMnO, 1s tatrated with terrous ammonium sulphate hexahydrate in presence ot
dilute H,50,. Number ot water molecules produced for 2 molecules of KMnO,

18

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 3666947263 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 H,S0, B! IURUIT § KMnO,, DT B3 HHIHTH Hetbe gaRISgC I o8
3T TR & a6 KMnO,, & 2 0] & [T I9d ofd & Su[aff &
T d

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
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Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666947264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain quantity of real gas occupies a volume of 0.15 dm” at 100 atm and 500 K
when 1ts compressibility tactor 15 1.07. Its volume at 300 atm and 300 K (When 1ts

compressibility factor 1s 1.4) 1s « 107 dm’ (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 3666947264 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrifdd 79 1 U fATET HMET 100 atm TUT 500 K TR 0.15 dm® AT U4 €.
oid gH@] GUeddl 70N 1.07 1 300 atm Y1 300 K UR SHPI A0 (TS
SHDT HUlSgdr T[ulids 1.4 § ) BT < 107 dm? (Mo ead
quifeh 1)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1N
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Question Number : 83 Question Id : 3666947265 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A,+B,—2AB. AHY = —200 kJ mol™

AB. A, and B, are diatomic molecules. It the bond enthalpies of A,. B, and AB

are i the ratio 1:0.5:1. then the bond enthalpy ot A, 1s kT mol!

(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 3666947265 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A,+B,—2AB. AHY = —200kT mol ™

AB. A, GUI B, fgURAUAD U8 13(q A,. B, dUT AB I 36 TAHE]
1:0.5:1 UTA H 8 ol A, Pl 1= T kI mol™! BRI
(FHeedan quie o)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 84 Question Id : 3666947266 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Solution of 12 g of non-electrolyte (A) prepared by dissolving it m 1000 mL of water exerts
the same osmotic pressure as that of 0.05 M glucose solution at the same
temperature. The empirical formula of A 1s CH,0. The molecular mass of A 13

g, (Nearest mteger)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 3666947266 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12 g dagd-319ded Dl 1000 mL 5d H °ld SR g-1a1 741 f[derg= a1 el
ORTERU] &1 Icde Hedl 6 (51 381 a9 YR Te[eh ¥ D1 0.05 M f[aera-| A
a4l 93 CH,0 81 A BT HU[d Gogdl= ¢ T

(M can quife o)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

149

Question Number : 85 Question Id : 3666947267 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1
25.0 mL ot 0.050 M Ba(NOj3), 1s muixed with 25.0 mL ot 0.020 M NaF. K¢, ot
BaF, is 0.5%107° at 298 K. The ratio of [Ba™"] [F ~]° and K is

(Nearest mteger)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 3666947267 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0.050 M Ba(NO;)2 & 25.0 mL 1 0.020 M. NaF & 25.0 mL. P I1Y (HI%d [bal
T4I% | BaF, #1298 KW Ksp 0.5¢1070 8. [Ba™"] [F~]° TUI Ksp BT U

g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666947268 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a@
gcollegedumaa
India’s largest Student Review Platform

S



- - ki . . - ;
A metal surtace of 100 ¢cm” area has to be coated with nickel layer of thickness
0.001 mm. A current of 2A was passed through a solution of Ni{NO5), for 'x

seconds to coat the desired layer. The value of x 18 . (Nearest mteger)

(Px (density of Nickel) 1s 10 g mL-!, Molar mass of Nickel 15 60 g mo] ™!
F=96500 C mol! )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 3666947268 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 em? ST I U YT I Fdg DI 0.001 mm HIETg B Hdbd 9Rd J g
8139 IRd & [dU Ni (NO,), P fdeg 1 2A B [dgd YR« Y= dd Hdllgd
I T 81 x BT HA ¢ (Focay quie o)

(PN (ﬁajﬂ P H-cd) % 10 g mL-! @ &1 AR S80HMH 60 g mol ™)
(F=96500 C mol! )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666947269 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrona Marks : 1




tg7 5 18 the time required for the reaction to undergo 87.5% completion and ts 1s
the time required for the reaction to undergo 50% completion.The relation between
tg7 5 and tso for a first order reaction 18 g7 5 =x * tgy

The value of x 13 .(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 3666947269 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UP AHNIHAT 87.5% YUl 81 & [¢1U A0 D T & tg, - 941 50% JUI BH &
fOTU TT0D TG -, B | tgy - AUTt-, D T HAY tg7 5 =x * tso Gl Al x DI HH
g | (Fdean quie o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666947270 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An organic compound gives 0.220 g ot CO, and 0.126 g of H,O on complete
combustion. It the % of carbon 1s 24 then the % of hydrogen 1s

<1071, ( Nearest integer )
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 3666947270 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Hla-d gIfiie Guige- U 0.220g CO, g7 0.126¢ H,0 &al 81 dfd 391
FIE- Dl %. 24 B df H i ufaerd sifl 107!, (RPpean

quTfes )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666947271 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the given reaction

CH 3 CH3

H-H-
A

CH,- C~CH- € ~CH,
HiC OH H

L3 ‘j{!‘
The total number of possible products tormed by tertiary carbocation of A 1s
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 3666947271 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 S T Sffihar
CH 3 CH3
CH;— C —~CH- C —CH; —2
H:C OH H
A
¥ 0 A & Tilloe SraleAm- O 94T $d e o d& d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666947272 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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20 mL of calcium hydroxide was consumed when 1t was reacted with 10 mL of
unknovwn solution of H,S0 . Also 20 mL standard solution of 0.5 M HCI
containing 2 drops of phenolphthalem was titrated with calcium hydroxide, the
mixture showed pink colour when burette displayed the value ot 35.5 mL whereas
the burette showed 25.5 mL 1mutially. The concentration of H,50 15

M.(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 3666947272 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H,S0, & U HITd faag- H HINUchar - R Hiedrd g Siadgs & 20 mL
UG H 37d §1 0.5 M HCl & - [dad- § 2 §& BHTEH Sed
BRI BESIEISS o SHEIYA B TR fHYU] e 31 1l § olF sg3c
HAT 35.5 mL WG RId @Xdl g | WRY H &RE 25.5 mL HET fa@1 87 4T | H,S0,
P il M el (Faean guife H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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